INFEEF 100m FEGHFALL—X)

(1#8]
1[ 5]
2[ 6]
3[ 4]
41 3]
5[ 8]
6[ 2]
[ 7]
(3#8]
1 6]
2[ 5]
3[ 4]
4[ 3]
5[ 7]
6[ 8]
10 2]

(548]
1[ 5]
2[ 6]
3[ 3]
410 7]
5[ 2]
6[ 8]
1[0 4]

;;;'EH%

1[ 5]
2[ 6]
3[ 3]
4 7]
5[ 1]
6[ 4]
70 2]
8[ 8]

( 0.7 m)
2% I H£6 (FRV2z7%%)14.08
1% = B6 (FEVaz7 5%)14.09
318 A Hik 4 (LEV2=7%%)15.45
814 WEA6 (LRV2=7£%)16.18
14%8 & T Hi6 (LEV2=74%)16. 43
AR B K4 (ERV2=75%)17.20
247 RS K EBR 4 (LRY2=75%) Ri5
( +0.3 m)
2%y &5 (LRV2=7-%%)14. 61
168 BEE 6 (LEVa=7%%)14.70
Mn Y K E6 (LRV2=7-%%)15.24
33K MW E M4 (ERV2=74%)15. 68
25k & B R4 (BRV2=7 5%)16. 67
2877 W pEEE 4 (BRV2=7-%%)17. 83
MmEH F 224 (ERBV2=74%)18.06
( -0.6 m)
46 4L 1L WL 6 (HRAT.CHE)14. 71
4535 ¢ % K5 (AREA.C-%%E)15.19
WA 55 (LRV2=75%)15.76
224 ¥ 225 (LRVa=74%)16.38
2078 K HEPEEA (LRV2=75%)16. 62
BbEHE K4 (LRV2=7%%)16. 69
1M & Tt A6 (FEVa=7%%)16. 89

+0.3 m)

ATI7R AR 7290 6 (AKE.C-5%)13.08
2% W M6 (LRYV2=7-%F)14.06
1% 7 6 (LEV2=7%%)14. 11
169530 BB 6 (LRV2=7%%)14. 46
464 (LI #L6 CRF#T.C-#%E)14. 49
6l 0 ¥ K6 (LEVa=7%%)14.55
195 B 28345 (LEV2=7%%)14.55
245 i =5 (FRV2=7 %) 14.69

[248]
1[ 6]
2[ 5]
3[ 3]
41 4]
5[ 8]
6 7]
70 2]

[4#8]
1[ 5]
2[ 6]
3[ 3]
41 4]
5[ 8]
6 7]
[ 2]
(6+8]
1[ 3]
2[ 4]
3[ 6]
4[ 8]
5[ 5]
6 7]
70 2]

( 0.0 m)
4775 K
200K H Fn4i 5 (LRV2=7-%%)15
278 1 ¥E I 4 (LEV2=75%) 16
A9N BF 15 —BR 4 (BEMER %) 16
1E M EiE 4 (FEV2=T75%)16
4055 18 i 4 (LRV2=755)17
M = F 4 (LRVa=T HE)17

( 0.7 m)

198 I 23k 5 (FEVa=7-5%)14
e 2 RKKHE 6 (FRV2=7%%) 15
1047 &f $R BE 6 (FRYV2=74%%) 15
304 # ik 4 (FRVa=75%%)15
BILE k4 (LEV2=7%%)16
128 M6 (LEVa=7-#5%)17
2600 7 R B4 (LRV2=2T BE) KR

( +1.0 m)

611 &
435 i

39K

215 4

FZEEFEF 100m FE(SHEE A LL—X)

(148]
10 3]
2[ 6]
3[ 4]
41 8]
5[ 7]
6[ 2]
10 1]
[ 5]

( +1.4 m)
30 K FH2 (FlmEd-tE)12. 39
194P9 Wy ¥ AH 1 (R)ITEH -5 %) 12. 88

20 A KAl 2 (RRRBT-5E)13. 43
250 M0 1 ()T -5 1) 13. 54
24 1 et 1 (I -5 1) 13. 96

Q7% F# L (BRAET-5E) 14,23

237k B Ot 5L 2 (RRRET-5E)14.59

243 W OB R 2 GEESP-B ) Rig

[248]
1[ 3]
2[ 5]
3[ 6]
41 4]
5[ 1]
6[ 8]
70 2]
8[ 7]

( +0.8 m)

13 RUKER 2 (RAIEED &) 12.
1548 1 =2 (BB -HE)12.
16142 % Rf5=F 2 (EREH -5 E)13.
BBk 2 GEMEET-HE)13.
200K & =063 (LERAT-HE) 14,
mE 1 (REXFR-5E) 14,
205 = R HEHE 2 (LR EFd-5E) 14.
FE B 1 (RROVHP-KrE) 16,

99°% %
220%F  fif]

1978 K

K6 (FRVaz7 #%E)14.

¥R 6 (AR C 5 E) 14.
O K AL A 6 (LEV2=7-5%) 14,
Bk 4 (FRY2=7%%)186.
1T/NARS 6 (LEV2=7 5%) 16.
36t fF A 4 (ERV2=T-5%)16.
w5 (ERYV2=7%%)16.

=46 (FEAT 5 E) 13,94

.53
.22
A1
.92
.15
)

.15
11
11
.97
.10
.06
5

53
19
95
68
69
69
98

12
86
53
95
22
51
66
39



(3#H)
1[ 6]
2[ 5]
3[ 4]
40 7]
5[ 3]
6[ 2]
70 1]
[ 8]
(5#H]
1[ 5]
2[ 6]
3[ 3]
41 8]
5[ 7]
6[ 4]
70 1]
[ 2]
(748)
1[ 3]
2[ 6]
3[ 4]
41 8]
5[ 5]
6[ 7]
70 2]
8[ 1]

G
1[ 6]
2[ 3]
3[ 4]
4[ 5]
5[ 7]
6[ 2]
70 8]
8[ 1]

(11:48] (

10 3]
2[ 5]
3[ 7]
41 2]
5[0 1]
[ 4]
[ 6]
[ 8]

( +0.4 m)
20675 fE 5h 3 (LERAT-#£)12.70
A 2 RULAT 1 (RAWERT 5 %)12.78
82H 1 = E 2 EA=AHP-5E)13.18
234 B K HE 2 (LEEET-5%)13. 62
5T H BeE 2 (RRFMH-%%£)13.92
8T B &1 (EA-AP-%%)13.99
2500 faf 11 (EEETFH-5%E)14.79
180/ 6 WA/t 1 (LEET-HE) KRG
( +0.7 m)
216587 H fb Bt 3 (RAERT-%%) 11, 81
A3 K &5 3 (H)IEH -5 E) 12,57
153 B 2= 2 (LEAT-H%)12. 81
19 AR ZRWT 2 (RR=H-5%)13. 27
65 M K= 1 (ERKFfiT-%E)14. 23
11011 Ay BB 1 GERREF-5E£) 14. 41
108if] 22 = th 1 GERRREF-5E)15. 95
246 - H 5 3} 2 (LEEER-RE) RI5
( +1.0 m)
205Kk 7k G 3 (EERAP-#E)11.59
148 N W HE3 (LERT-%%)12. 57
10J1 A 7 K1 (RAEET-5E)12.99
1077 = B P 1 GERERT-5E)13. 87
9K E KM 2 (F)IImd -5 %) 13. 94
179 & K1 (LEEFS-%%)14.03
256HT H  fd == 2 (LEEFER-5E) 14. 29
2711k BB 1 GE)IEd -5 ) 14. 74
( -0.1 m)
T8I Ik Bk 3 (EA-AH-HE)11.67
1197 A A w2 (EERT-¥E)12.60
12110 B+ 2 (RAEET-5£)13.05
15670 % oLt 2 (LEREF-%%)13. 61
215 1 (LEEFEH-5%)13.68
4057 2 B Sb 2 (E)IE T -5 E) 14. 45
38R & uR K 2 (E)IEH -5 E) 15. 06
122368 523K 1 (EERT-¥%)15.20
+0.4 m)
131k % [ 1 ONIEF-5E)12. 44
250 H O 1 (RRIERET -5 %) 13. 54
249768 H H A& 2 (LELFEA-%E)14.45
222°% H ek 1 (LERER-5HE)14.54
W x KEE1 (E)IET-5%)16.18
199/ By = th 1 (REAHT -5 E) RiF
2044 v 93 (LERAT-HE) RiG
22458 IE B2 (LERKTH-5E) Ri5

(4481
1[ 5]
2[ 3]
3[ 6]
41 8]
5[ 1]
6[ 7]
[ 2]
[ 4]
(6481
1[ 4]
2[ 6]
3[ 3]
41 7]
5[ 8]
6[ 1]
70 5]
8[ 2]

(8+H]
1[ 5]
2[ 4]
3[ 6]
41 3]
5[ 2]
6 1]
70 8]
[ 7]

(10481 (

1[ 4]
2[ 6]
3[ 8]
41 7]
5[ 1]
[ 2]
[ 3]
[ 5]

(1248] (

11 4]
2[ 3]
3[ 6]
4[ 5]
5[ 8]
6[ 7]
10 2]
8[ 1]

( +0.9 m)

1927 B g {5 3 (I -5 £) 12. 27
814 Il B MeE2 (RA=AP-5E)12.92

15948 Il K& 2 (EEAH-%%)13.01

2081 & K A3 (LERAT-#%)13.45
NP H M N1 (BR=AP-5E)14.07

130/ 1% JCHE 2 OMIEF -5 %) 14. 88

25346 FH O 1 (LEETH-5F) g
3T 1 K2 (HIEt-5E) Ri5

( +0. 1 m)

15 KRZEBE AL 2 (RREET 5£)12.07
4mE W K FH 3 GEmEET-5%)12.90
ME M MF K 2 (I -5 %) 13.03
88 L[] 5h -1 (EA=F-%E)13. 81
63%B BE B3 AF 1 (LRFMH-5%E)13.95

1938 I K21 Gilllad -5 %) 14. 20
98F8 )1l &t 2 GEfEERT-5%)14. 31

212Kk = KA1 (LERAF-5%E)14.94

( -0.3 m)

M B R SF 3 (IR - 55 ) 12,00
935 H K F«3 GERERT-5E)12. 40
320 By A BE 2 (H)IFH-%E)13.16
135k W HE &1 (ERFESH-%%)13.19

23875 & A5 — 2 (EREET#%)14.83
S/ a2 (F)ImH-5E)14.95

19857 &5 Jr & 1 (R #+-#%)15. 06

25448 R 1 (LEETH-5E) RiG

+1. 1 m)

2000 68  F Ik 2 (RRAEH-HE)12. 71
363 7 i B 2 (HIFEh-5E) 13, 41
3y 2 (F)ImEH -5 £)13.76

183t A B &K1 (ERHEF-%%)13. 88

109/ B B 1 GERERS-5E)15. 44

21928 % M B 1 (ERERKER-&E) Ri5
Q9N A N 1 (RAIEET -5 £) Ri5

144/ 2 & K3 (EEAT-HF) Ri5

+1.1  m)

4T AR &k 3 (LRET-H%)11. 84

12957 & 22 ONIEP-#%%)12.25
187 By KOHE 2 (RAIEET 5£)13. 65
92/ Ak B 4 3 GERERT-5%)13. 67

2100 A7 &g 2 (LRERAF-5HE)14.17
51 FEE 2 (E)IEH-wE) 14. 41

22393 w1 (LEKTH-5%) 14. 48

1648 H 1 (LEAH-5H%)16. 23



(13#8]) ( +1.
1282 B B2 3f 2 ONIDR 55 %) 12. 54

10 6]
2[ 5]
3[ 7]
41 4]
5[0 1]
6[ 8]
7[ 2]

[ 3]

TR AF
28/~ J&
594t ¥

221 R
6957 A
227% ¥
190 J&

(15481 . +0.

1[ 5]
2[ 4]
3[ 3]
41 6]
5[ 2]
6L 8]

[ 1]

[ 7]

15045 A<
17 &
68(J+ ji

104HT [

23116 43
100 &1
29/F mH
643 4

(17481 (  +0.
187)50 J¢ KRB 3 (LEHT-%#%)12. 32

1[ 3]
2[ 4]
3[ 5]
4[ 8]
5[ 2]

[ 6]

[ 7]

26F &
1714 ¥

0 m)

PESR 1 (RAIERET-5%)13. 42
FRHE 1 (GE)IE-#%)13. 60
B K2 (ERRfiT-5%)13. 65
BB 1 (EERES-5%)14.90
8% ¥ 1 (REJRilH-5%) 15, 11
B2 (RRAEH-5%)15. 68
K2 (-5 E) R35
4 m)
a3 (LRAP-HE)12.19
A3 (EA=AF-%E)12.73
Ak 1 (ERFEHT-%%)13. 44
= N1 GERERT-5%)13. 76
PR 2 (ERREF 5%£)15.52
b5 %% 1 (LRJidiH-%%) 15. 60
B A1 (N8BT K5
k1 (ERFEAT-5E) KR35
9 m)

# i 1 GEJIm -5 %) 13. 22
M B 2 (BRAT -5 E)13. 23

178/ I JF w1 (ERA-5E) 14,01

83% H
178K
6742 A

iR Rg: (348)

(1#8]
1[ 6]
2[ 4]
3[ 1]
4l 2]
5[ 3]
6[ 5]
70 7]
8[ 8]

(3481
10 3]
2[ 4]
3[ 5]
47 1]
5[ 6]
6[ 7]
1[0 2]
[ 8]

( +0.5
1485 N

Bk 2 (BAZRT-5iE)14. 48
£ th 2 (RAEET-5T) Ri5
HifE 1 (R -5 E) Ri5

m)

TEHES (LRET-5E)12.42

581 g F5 1 2 (LRJTHT-%E) 12,
43 K KI5 3 (EH)lpEd -5 E) 12,
19# A A2 (EREFR-5HE)12.
= 1 NI -5 ) 12.
12882 - E B2 =) 2 NI -5 E) 12.
5 3 (ERRAT-5HE)12.
200 &8 & Ik 2 (RAHT-FE)12.

131k 8

20675 ik

( +1.1

m)

205k K #53 (RERAT-HE) 1.
Bifk 3 (RA=RT-HE) 11
po B 3 (RAERET-HE) 11.
ARG IR A 3 G- 5 ) 11,
47T A #£5%3 (LRET-HE)12.
3 (RAZRT-5HE)12.
1S RZABEE AL 2 (RAGBET &%) 12.

T8 1k
216587 H

T4/ Hk

45
45
47
47
92
65
68

41
46
13
80
00
08
09

1505 A B E 3 (LRAT HE) R

(14%8] (
T4/ #R E 3 (BRZRT-HE)12.
HEr 2 (ERRAT-HE)13.
FEOR 1 (RAEET 5 5) 13
e 2 (ERKER-HE)13.
kR 1 GEIm-5 ) 13.
g 1 (RAEED 5E)13.
WOE 1 (BRRER-5%) 14,
B2 CEMEET &%) Ri5

1[ 5]
2[ 3]
3[ 4]
41 1]
5[ 7]
6 8]
10 2]
[ 6]

(16481 (

1[ 4]
2[ 5]
3[ 3]
41 8]
5[ 7]
6 2]
11 6]

(18#8] (

1[ 5]
2[ 3]
3[ 4]
4 2]
5[ 8]
[ 7]
[ 6]

(248]
1[0 4]
2[ 7]
3[ 6]
4[ 5]
50 1]
6[ 3]
7[ 8]
8[ 2]

+0.5 m)

209%% 4+
6K
230 5
56171 N
20775 fik
21848 %
10135 &
+0.7 m)
16042 J&l
2294 &
A% By
6617 JiE

+0.1 m)
15258

1051 7

F b2 (EEES-5%E)12.
B 2 (LERTEH-5E) 12,
EAES (HImh-5E) 13,
H 1 (LREfH-5E) 14,
8T N U SR 1 (RAERT-5E) 14
24587 0 R Ve 1 (LR EED-%E) 14.
Oy H # E 1 (RAEET-HE) 14

He 2R 2 (BERAEP-HE)12.
581% ik F5 4 2 (LREHT-5E)12.
86 M #h & 1 (EAZRP-5E)13.
1218 % B 1 (LRED-HE) 14
226K £ B K 2 (FEATER-#E) 14.
1 GERERT-HE) K&

11
22
2]
10
16
82
91

20
21
98
05
29
35
50

43
53
15
46
47

2275 ik ACHR 2 (REBERT R E) Ri5

( +0.2
2294 &

m)

935 H R #E3 GERELET HE)12.
1927 B g & 3 (I E) 12,
129%r & X2 ONIDRH-%E)12.
187 &€ K BB 3 (ERA P 5E)12.
16042 J&. 75 =} 2 (ERMH-HE)12.

152% % =2 (REAT-HE)12.
3008 A FH2 (H)IFET-HE)12.

g8 2 (RERKYED-5E)12.

16
18
25
31
31
31
39
49



%I\A

mes 3

LS

206 KK ®ES 3 (LRRAT-HE) 1141 +1.

O~ O Gl bW

=%
(18]
1[ 6]
2[ 5]
3[ 4]
41 3]
5[ 7]
6 8]
71 2]
8[ 1]

(3#8]
1[ 5]
2[ 6]
3[ 4]
410 7]
5[ 8]
6[ 3]
70 1]
8[ 2]

[54H]
1[ 3]
2[ 4]
3[ 6]
4[ 5]
5[ 7]
6[ 2]
70 8]
8[ 1]

(748]
1 6]
2[ 3]
3[ 5]
410 7]
5[ 8]
6[ 2]
[ 1]
[ 4]

78 W ik

BF 100m F&
( -0.3 m)
32377 MR 2 (RBIME - HE) 11,

52014 jig PR IE 1 (ROtERA-

5048y 0 K& 2 (Bl -k

1971 H
( -0.6
374t A
4320 jiE 1K
5193 1|
452111 H
5124 )1l
429+h
446K A
19584 111

( +0.2

m)

it~ 1 Ol Rt

& X1 (FE—

m)

37275 B¢ Ot k2 (BEfRE-FE) 11,
R 11,
3584w & KA1 ()l - B E) 11,
A0 AR 2 Jllndbm -5 ) 12.
B SR (R RETE) 12,
B E)12.
me B E) 12,
& BE) 14.

34Tk ©#1 (LRHRA-*

3767 &
479% 4+ Wk 1 (&N
1764 = AfFeuf 1 O ko
3407 ik EK k1 (ke
(-1
3704

m)

4365 5 #& K2 JIndes
45084 & &1 Jlnds-
M2E KR EEL (NS

HE)11.
MMZ R 2 (lndheE-5E)12.
AT7E )1 7& KBRS 1 SN S %E) 12.
513 Ua 5h R BA 1 (B & - ¥ ) 12.
5 E) 12,
521%&1%2@31 (B[l & - 3 ) 12,
BE1 UNIE--BE)12.

K A2 (BEfRE T8 11
g2 OladesE - E) 11.
A1 (B - ) 1.
B E)12.
oA K 1 (B e - ) 12
R B E)12.
e JindesE-%E) 12,
KH 1 ONIE-#£)13.

BlE 2 (BERRETE)11.
518 /% A 1 (B & - E)11.
B E)12.
B E)12.
i) 12.
3494 K N2 ()l - By E) 138,

/mﬁk 3 (EA-JRH-HE)11.46 +1.
216 87 H B 3 (RAERT-HE)11.73 +1.
M EREIR L 3 (IR T HE) 11,80 +1.
4T K H£dk3 (LERP-5%)12.00 +1.
T4/ BK 3 (BAZRFP-5E)12.08 +1.
15 RZEE R 2 (RAEET 5£)12.09 +1,
229 7 & #EH 2 (LERTA-#%)12.16 +0.2

15
91
10
29
29
36
12
80

63
68
90
06
47
61
15
08

11
14
85
17
28
92
65
39

49
86
01
09
22
04

1912 1 S K1 ONIE - 5 E) Ri5

443%Kk T

B 1 Ollndts -5 1) Ri5

—_ =

(248]
1[ 5]
2[ 3]
3[ 4]
47 6]
5[ 8]
6[ 2]
70 7]
8[ 1]

[4#8]
1[ 5]
2[ 4]
3[ 6]
41 3]
5[ 1]
6[ 8]
70 7]
8[ 2]

(6481
1[ 3]
2[ 5]
3[ 8]
41 7]
5[ 2]
6[ 4]
70 1]
[ 6]
(8%H]
1[ 4]
2[ 6]
3[ 7]
41 3]
5[ 2]
6[ 8]
70 1]
[ 5]

(1452 1 LL—X)

( 0.0 m)

520RF FH % — 1 (B & -5HE)11.76
378%& i A 1 (FHPRE-TE) 11,82
368 H A% =F 2 (BHfRE-TE) 11.92
476 EBE A2 (WIENE-HE)12.33
508 1 FE2 (BME-HE)12.34
359K 1l MK 2 (BHPRE-TE) 12,82
43055 1 BIR 1 (A —5-1E)12.86
157 8k =2 B 1 (REtHe-5%)13. 42
( 0.4 m)

3779 M & sb 1 (BE PG TE) 1L04
SITR T2 1 (BhwE-5E)11.88
1750 | T 47 1 BEERE-5E)11.89
5248 £ 1 & 2 (RLEKE %% 12.02
4517 1% 225 1 (IIndtE-#%E) 12,52
448+ & &1 OllpdesE-5E) 12, 61
384KE A i N1 (BHPRE-TE)12. 63
3474 v 1 BE 1 (fREri s -15£) 13. 36

( 0.0 m)

1748 H A A7 1 WEFR&E-HE)11.90
537 H A B2 (W& -wE)12.14
5274 [ 5 KA 1 (k& -5%%) 12. 60
30575 ik & we1 (LRME-#HE£)12.73
383y 5 #h oA 1 (FHEARE-THE) 12,98
1THEAR O 3 GERE-HE)13.17
196108 % =k 1 O -# %) 13.30
52544 . WFHE 1 (FOtERE-5E) Ri5

( -0.8 m)

UT R £ E 1 JlndeE-#%E) 11,80
37900 g 11 (BERE-TE) 11.82
51510 7 Al A 1 (b - 55 £) 12. 01
A14F 5 R E 2 (HElE -HE)12.12
1481 ik Fn & 1 (R EE-HE)12. 36
5167 )1l Wimg 1 (B -HE)12. 87
193 W &A1 UNIE-#E)14.74
5058y W £ % 2 (B[ & - E) R

==
7~
e
ES



(9481
1[ 1]
2[ 6]
3[ 5]
41 2]
5[ 4]
6[ 3]
7[ 8]
8[ 7]

( -0.2 m)

554 % AR AT 2 (FotER &%) 11. 33
17215 15 bz 2 (RS m-HE)11.50
AT5u P £ 2 (MElR-HE)11.74
19818 R IR 1 ONIE-#£)12.12
15 A E A1 BEPRE-TE)12.20
36045 & i iE 2 (BEPRE-TE) 12,27
439°F- 3 f& k2 (ilndbe-5E)12. 43
A58 B A 1 JllndbeE -5 £) 12. 54

(11#8] (  +0.6 m)

10 6]
2[ 5]
3[ 3]
41 7]
5[ 8]
6[ 2]

[ 4]

[13#8] (

1[ 3]
2[ 4]
3[ 6]
41 7]
5[ 8]
6[ 2]

[ 5]

32555 Ry R4 2 (A8 - ) 11. 63
4387k H HE X 2 (lndmE-&E)11. 81
299H T AR 2 (LEME-#E)12. 11
526%% 3 #Er 1 (FotERE-%E)12. 47
47875 e 1 (RSN M- £)13. 04
MAST I 2 1 JIndeE-3wE)13. 26
SN st 2 (FEPRE TE) KI5

+0.3 m)

503/s M8 K 2 (Bhd s -3 ) 11. 43
502 N s K 2 (BHh & -3 E)11.70
506k M #h w2 (B0 & -3 E)12.04
1TTR B 1 GERa-%E)12.29
4927k VN VER 1 (RIE—@ - £) 12. 51
480/ By %1 (RIEEE-HE)12.74
381K 2221 (BHFRE TH) RI5

iR B (31H)

(1#H]
1[ 6]
2( 1]
3[ 5]
41 4]
5[ 2]
6[ 7]
70 3]
8[ 8]

(3481
10 3]
2[ 4]
3[ 2]
41 6]
5[0 1]
6[ 7]
7[ 8]
[ 5]

( +1.5 m)

4387k} B & 2 (Ilndd-#%) 11,58
378 M M F 1 (FHRE TE) 11,60
4473 50 £ T 1 (IndEE- % E) 11. 61
204 1 W — 1 (i ¥ E) 1. 63
37900 1 (FHERE TE) 11,66
3581 B KA1 1 ()1 - ¥ ) 11,71
323 A5 AR 2 (RBIME- B E) 11,71
SIS #f TR FH 1 (B[ & - 5 ) 11. 86
( +1.3 m)

3774 W %% 3k 1 (FEhE T 19,84
37275 1 Ot 3k 2 (BETRE TE) %8
172 6 b2 BERE-HE)1.19
503/ HY 4 K 2 (BB - H7 E) 11, 32
37074 & 1B 2 (WEPRE TE)11.37
32545 I B th 2 (REIE- B ) 11,47
T4 AT & A 2 (BHRE TH)11. 62
S54SR BAES 2 (ROLENE 4 E) K15

(1048] (

1L 3]
2[ 5]
3[ 6]
41 4]
5[ 7]
6[ 8]
10 2]

(12481 (

1[ 5]
2[ 6]
3[ 3]
41 4]
5[ 7]

[ 2]

[ 8]

[14%8] (

1[ 6]
2[ 3]
3[ 7]
4 4]
5[ 8]
6[ 2]
[ 5]

(2%H]
1[ 8]
21 3]
3[ 6]
410 7]
5[ 4]
6[ 1]
70 5]
8[ 2]

-0.6 m)
JLIk 2 (HReEm =) 11. 94
e K3 (RER-HF)11.97
g2 (JIlndes-&E)11. 99
B 1 (A8 -5 %) 12,19
IF B 1 (BReER =55 £) 12. 33
oL 1 (JIlndbE -4 £) 12. 65
g2 (lPdbm &%) 13. 41

3447 )
145K 15
435K [
32446 &
34274 i
B493FT fiE
4345 1L

+1.0 m)
30078 H #k 2 (LEME-#E)11. 64
M3 HIEKES 2 (RA—m-#E)11.65
5077/ A/ K2 (BM&E-#wE)11.70
43385 K Bt 2 (llndbm &) 11.97
3394 = IE B 2 (FReER A -5 £) 12,43
382= M 1 (FHEPRE TE) RIG
173/ 1% K iE 2 RERE -BHE) Ri5
-0.1 m)
S/ R KBS 2 (fReEm 5 £) 11. 68
348)= % K HE 2 (fRhErd -t £) 12. 08
5098 R PR A1 (BfE-HE)12.34
A3775 ik K ZE 2 (Jilndem-#%£)12. 37
51087 H HEt 1 (BfE-51E)12.38
230 W E 1 (WTHRER-HE)13.58
MBLR R A K 2 (RE—F-5E) Ri5

( +2.4 m)

04T ik 21 (LEME-#E)11.45
30075 H #k 2 (LR -#E) 11,51
4320 1&gt 2 (JllRdem -5 £) 11. 56
475 B B2 £ 2 (FIENE-HE) 11,58
MIFrHIEKES 2 RA—m-5&£)11. 60
5077 & K2 (BhE-HE)11.62
SAT/N R KBS 2 (Bagrd - 57 ) 11. 63
502 N g K 2 (B - By £) 11,73



wamkmiR
13774

172 & 1%

e 3h 1 bk TE) 184
3275 1 bk 2 (HEfRE TH) 1%98
b 2 (FEREHE)1.
503 /1N 4B A 2 (Bl - £ ) 11,

+1.3
+1.3

+1.3
+1.3
+1.3

O~ O Gl bW

370 #%

304 T ik
325 ’A IRf
300 v4 H

& s 2 (BEhRE TR 11,37

wE 1 (LEMR-5E)11.45 +2.4
Bedh 2 (Robim-5%E) 11,47 +1.3
M2 (RREMmE-5HE)11.51 +2.4

—fiEEBF 100m FTEQ2F A1 LL—X)

(1%8)
1[ 4]
2[ 6]
3[ 3]
41 8]
5[0 1]
6L 2]
[ 5]
[ 7]
[3#8)
1[ 6]
2[ 5]
3[ 8]
41 4]
5[ 3]
6 1]
10 2]
[ 7]
(5%H]
1[ 5]
2[ 6]
3[ 3]
41 8]
50 7]
6 4]
70 1]
8[ 2]

(7481
1[ 5]
2[ 3]
3[ 6]
41 8]
5[ 4]
6[ 1]
70 7]
[ 2]

( -0.7 m)
224 B 5 2= 3 GRivE k- K43)11.00

206111 iy GRS T (P K- k) 11,16

10255 A =Ml (B ER-BE)11.29
498 ¥ CRABER-# =) 11.55
1570 55 oH: K 2 (BEEpe K-#E) 11. 64

It H= (OUF - [ (l)12.09
ST A2 (L K-8 B)RI5
5420 kM 2 (KA - ¥ E) Ri5
( -0.4 m)

2644 W iE K 4 (KT KIK) 10. 95
12580 9 2 CKRHECK-#ri) 10. 98
59th & = 4 HB  (VOLVER-#iE) 11. 31
39448 B B — 4 (BB K-HR) 11, 45
2827 jik K4 (—IBREHUR) 11,63
2554 i kK (CKIHEKRAC-#5E) 11. 87
1M H o BEER-%E)12.85
820 By B (BFAC - E) Rim

( -0.4 m)

2187 % i K 3 K- £)10. 74
2926 K KB4 ORFERZT-T3)11.25
207 )1 KB 2 (e K- R ¥7) 11, 29
551 i & L+ 2 (B KIE-HA)11. 42
2861H #~ By Y2 (—HBRF-HR)11.46
1159 kF f& &  (UNITE-#5 £)11.57
398 B il (BB K-#E)11.79
91T =% HEREWF-%HE)12.86
( -0.7 m)

388/ K — Bk 4 (BEAEK-HE)10.72
391 B s 1 (BEWAK-#%)10.76
392H H i iR 1 (BRH K5 £) 10. 79
152 oK & 3 (A -#%)11.03
8534 (b fF (BYAC-#E)11.16
400521 FE R 1 BERHEKR-HE)11.73
252 = JEARFE (RHKRAC %) 12. 40
S50 AH —BR 1 BFEEK-BHE) Ri5

(24H])
1[ 4]
2[ 3]
30 7]
41 2]
5[ 8]
60 1]
[ 5]
[ 6]
[4%48])
1[ 6]
2[ 8]
3[ 7]
41 4]
5[ 5]
6[ 2]
[ 1]
[ 3]
(64H)
1[ 3]
2[ 5]
3[ 4]
41 8]
5[ 6]
60 7]
10 1]
[ 2]
[8#H])
1[ 6]
2[ 5]
3[ 3]
40 7]
5[ 4]
6[ 8]
70 1]
[ 2]

( -1.5 m)
2033 ¥ £E B 3 (MdE K- 18 ) 10. 74
2616 % /@ Bl (EAW&F-%E) 11.08
12775 % H K1 CREK-E5) 11,34
241/ bk B3 R 2 (HEFRA-5E) 11. 63
158+ 2 K2 (BEERK-HE)12.36
52=F M1 (HEEK-5E)12.55
294 A B th 2 (REERZ 1R Ri5
2084 Igp AR 5L 2 (BEPE K- B E) Ri5

( -0.6 m)
3875 & 4 (BEMAK-HE)11.08

104 & 4 BEXR-HE)11.19
40418 B &1 BB KR-#E)11.36

1035 lep 15 98 4 (i =R -Ri ) 11,39

150 )1 B GWJIEER-#AID 11, 41
263% & ¥ (WAVE-#73)11)13. 96

276K8 & M 12 1 FEKR- L) Ri5

25387 HFE KRR (KEKAC- i £) Ri5

( -0.3 m)

2198 16  #8 B 3 (v K- ##h) 10. 94
13k Kzg (-7 3K 10.97
86/% &5 Fnf (B FAC-EHE)11.02

129K B FE KRR 1 CRAK- =) 11.15

254 FEEAE (CRIERAC 5 £) 11. 24

3974 H Ml 1 (BEMA K5 E)11.50

399% R ot A4 (BRH K- HR) 11,95
817 Il K47 (BYAC-1E) Ri5

( -0.8 m)

BRA & (BEKRTF-FEE)10.83
2120 - fdt K 2 ORiEK-HEE) 11,05
209 = kAT 2 ORiE K- EAR) 11, 21

95K M B (ByKRTC-#%E)11.53

3U/NMR mE A4 (L K- B E)11.54
4091 it E 4 (BBWAR-HE)11.57
95004 H: % CRORREt- 1m0 12. 69
4034 F 21 BEHKR-BE) R



[9#8]
1 4]
2[ 3]
3[ 7]
4[ 5]
5[ 2]
6 1]
[ 6]
[ 8]

( +0.4 m)
34y By & ok 6 (MiRERR-%%)10. 85
2605 5 E (EREKXAC-5E)10. 86
AT R £ 2 BEEKR-HE)11.23
130 A/ & K1 (KEK-H#)11.25
A06FH A K 4 (BBMAK-%E)11. 61
LN EtE (777 -H )12, 63
216/ BRBE R 3 (vt K- ) Ri5
1996 1 33 (v K-EEIS) Ri5

(11#8] ¢ 0.9 m)

1[ 5]
2[ 2]
3[ 4]
41 7]
5[ 8]
[ 1]
[ 3]
[ 6]

211808 B 2 540 4 e K-8 E) 11,02
33 e (HEEMS- #HE) 11,46
55285 (L1 1 BA 5 (REB K- HEE) 11,47
45%F A IE K 3 (BEEK-HE)11.56
2 AT PEK (BFEMS-EHAE)11.57
811U A Kif (BEFAC-#E) R
123 A &R~ 3 (KEK-ERE) Ri5
198 BN BEKRTF-HE) X5

[13%48] ( -0.5 m)

10 6]
2[ 3]
3[ 7]
47 1]
5[ 2]
[ 8]
[ 4]
[ 5]

240/ Kz B 4G 3 ORE K- F4%) 10. 88
532/ #& W13 (CEAERK-T#)11.38
106/ HE {1 /4 (B EK-HE)11.60

T—WH Fndk  (BATER-%5%£)12.13
109850 & —  CROSkEf - #1012, 36
40811 1 FFE K 3 (BRTE K5 ) R
293K BF SRR 3 CRIERZ-HiA) RiG
5874 % JH L (VOLVER- £ E) K15

(15%8] ¢ -0.2 m)

10 4]
2[ 3]
3[ 6]
41 7]
5[ 1]
6[ 2]

[ 5]

[ 8]

124 48 BT 2 CRIEK-HER)10. 72
126 K M [E &% 2 (KEK-F4) 10. 87
128/ 1 72 2 1 (KRHEK-#£5)10. 88
38R (CiE2 (3E K- 45 E)11.60

1A Em  (LRHEGSE)11.72
M E A (B EMS-EE)12. 11
105/ #8 M1 (FEK-#HE) Ri5
5463 &  IE 3 (FK[FE-HE) Ri5

(1748 (  -1.2 m)

1[ 5]
2[ 6]
3[ 7]
4[ 3]
[ 1]
[ 2]
[ 4]
[ 8]

15184 B ¥4 (BFEREK-HE£)10.93
1321 il J& E 1 (KA. @) 11.10
156/)N B8 iz th 2 (BEZfE k-3 E) 11. 54
2005 ] PRAE 2 (GvE K- 1LE) 11,59
1TTNA KF (b— 18465 E) Ri5
T16/NIARFIR (AL BH) Ri5
1216 % KFHHR 4 (REK-EH) Ri5
2235 K F — 3 K- E) Ri5

[1048] ¢ -0.9 m)

10 3] 390JI ARFEAKEA 4 (BEWAK-5%)10. 95
2[ 6] 4024 J5U Ei g 4 (BEITHK-#5E)11.05
3[ 7] 23375 Rk T2 (e K- E) 11, 31

4[ 5] 533K )1l A3 CRRERK-T#)11. 34
50 4] 1543 )11 B i3 (BERA-HE)11.43

6[ 1] 5401% = A {4 (FKIF-HA) 11,59
T0 8] 2564 1 % 5 CRKICRAC- % E) 11,71
8[ 2] M7% 1 A 2 CCER-HE)11.74

[1248] ( -0.6 m)

1[ 5] 40195 K B8 & 4 (BRf[H K- §#) 10. 77
2[ 6] 295Fn M Ei fE 1 CRPFERZ-EH)11.24
3[ 3] 40FEFE ML F3 (G K- # £)11.31
AL 7] 284 W &H#® 3 (KT ) 11.50
50 2] 88fe & Mt 4 GUERF2H-%%)11.59
6[ 8] 35K BEN GFEEHHE12.11
7011 29%h MW Hesh (AL I.R-£5%)12.74
[ 4] 14/ # JIE  CEFRF-5E) Ri5
[14%8]) ( -0.6 m)

10 6] 281/h 0 % %3 (K% #%)10. 88
2[ 5] 844 1 I (BFAC-#E)11.19
3[ 3] 22611 H 3 AHE 2 GlvE K-8 £)11.22
47 4] 153/ (1 &3 (EFRA-#HE)11.24
5[ 8] B34 R FnE (FKTC-HE)11.49
6[ 1] 1704F & A th 2 BEEREKA-HE) 11,52
[ 2] 56iF % XK FHFKRIC-HE)RE
[ 7] 20584 M #F 73 GV K- &5 0) Ri5
[1648] ( -0.6 m)

10 6] 1227 & 463 (KREK-#H8)10. 87
2[ 5] 133 B IE Ak 2 (KEK-AT)11.14
3[ 8] 262/ cRF K (WAVE-#hZ)11)11. 41
AL 7] 280/ B K BR 4 (MENK-#2))11. 49
50 1] 277 K BE3 (CLERF#%)12.12

(18#) ( -1.3 m)
104] 36KRE #Hir2 (L K- RH)11.08
2[ 3] 40555 &+ PR th 4 (BRWAK-HE)11.24
3L 6] 204K M 72 & 2 (Wl k-5 $)11.29
4[ 5] 22778 (L 742 (GHPE K- HE) 11,30
5[0 8] 2218 M & 3 (Wp R T2)11.42
60 2] 8@ f&— (WpiikER 55 12.05
[ 1] 288l H it *F- 1 (—KY -5 E) Ri5
[ 7] 101 W fE K4 FER-FE) R



(1948] (

10
2[
31
4(
5[
[
[
[

(2178] (

10
2(
3[
4(
5[
6[
70

[

-0.4 m)

51 207#k K Z2 2 (e k- KBR) 11.02
3] A2 H A (EEREH-HE)11.12
7] 100)E 5 %6 = 4 (FHEKR-HHE)11.51
8] 1288 % FIBl  (VWzvA-mAl)11.55
2] 80K H sz (BEKRTF-H#EFS)11.63
1] 523K 1EFE (BE/77-%F) X5
4] B43J R I 4 (BKA-3wE) Ri5
6] B4R A H K2 (BKFE-#HE) R5
-1.0 m)

5] 201 N B8 % 4 (b k-Fkm) 10. 67
6] 1208 H CRFZEM1 CRE K- BED 11,10
7] BA5FKF K R E 3 (BRKIA-#£)11.37
31 214 H B A 2 Gsvh k- #rlw) 11. 39
8] 2204 Mk A 3 (WEK-HH)11.48
1] 31T KRE =& GUAFAEHE)11.54
2] 432 E W 5 BEEK-EHE)11.59
4] 2831 AR KER 4 (—BRF TH) k&

iR Rz (34R)

(1#8] (

1L
2[
3[
41
5[
61
11
8

(3#8] (

10
2(
3[
4(
5[
6(
10

[

$
11T

1

O~ O Gl bW

0.8 m)

1] 390)1 A4 KEA 4 (BBmHK-#%)10.72
5] 151 & 84 (BEERK-HE)10.72
4] 239K AAREBEZE 3 (vE K- = iR) 10. 73
6] 219% & #H & 3 Oulvd K- §#) 10. 77
31 281/ 0 %% 3 (—HEKF-#%)10.77
7] 13 k# K% (P-4 MER)10.78
2] 2644 H fF K4 CGRERT KR 10. 81
8] 125mi1 M ¥ 2 (KECK-#71i5) 10. 81
+1.3 m)

5] 388/ Ak — k4 (BWA k- E) 1%A
1] 2037 & £ B 3 (v K- & &) 10. 55
3] 20188 N B8 2% 4 (WvEK-FkH) 10. 60
6] 13148 1 CREK-#&))10. 62
8] 4017E /K B XX 4 (BRFA K- Fhid) 10. 65
71 391 F B R 1 (BRH K- %) 10. 65
41 1245 K6 [ERT 2 OREUK-#£55)10. 90
2] 21874 5

CRE S

388 /N bk — k4 BETAKHE) 1&g T
203 P& HE (B 3 (M K-1@ &) 10.55 +1.
18 KA1 W (BEKTF-BEE)10.56 +2,
201 &N B 2% 4 (R K-FKH) 10,60 +1.
1225 & 43 (RIK-#5)10.60 +2.
131 HE I TE 75 1 CREA-#%)1)10. 62 +1.
40175 7K 55 % 4 (Bima K- #0) 10. 65 +1.
1281 1 722 1 (RICK-##8)10. 65 +2.

HE A3 OliR-F &) BEREk7 L

WWWWwWwWwww w

[2048] (

1[ 5]
2[ 6]
3[ 8]
4 2]
5[ 1]
[ 3]
[ 4]
[ 7]

(22#8] (0.6

1[0 6]
2[ 3]
3[ 2]
41 8]
[ 4]
[ 5]
[ 7]

[248]
1[ 4]
2[ 1]
3[ 7]
41 3]
5[ 2]
6[ 6]
70 5]
[ 8]

-1.4 m)

239K A PR BE A 3 (R K- =) 10. 91
21387 11 A HE 2 (RvE K- K30) 11. 14
54/ l% B (BERTC-¥E)11.52
219t H A2 GIEXRFE-HA) 11.90
A8k J& (R 2 BEEKR-HE)12.12
5367% H  — Bi 3 (FRERK-#E)) KI5
501930 —#& (T7®N-T8) RIG
54982 A& 5L 4 (R K[E -5 E) Ri5
m)

131k 3% 1E £ 1 CKIEK-#4)1)10. 74
25THE 4 2 (TEFFBER-HiA) 11,29
27855 HFDE AR 2 GLERF-#E)11. 46
A075% H KA1 BEER-5E)11.47
22585 K W1 GREKR-fE ) Ri5
3894t A B i 3 (BRI A KKK Ri5G
395Kk H 1 BEWAK-HE RE

( +2.3
18K A
1225 &
128H

m)
i (BERTF-#E/5)10.56

3 (CKIEK-#7115)10. 60
7221 (KREA-#£/5)10. 65
3921 iR 1 (BEAK-#%)10.65
126K M [E &k 2 (KRFK-#H74)10.74
260k & M (ERERAC#E£)10.75
31475 B & K 6 (MBEERK5E)10.76
2407\ B2 1B %6 3 ORvE K- H ) Ri5



FFEHEEF 200m

(1#8]
1[ 5]
2[ 8]
3[ 3]
41 4]
5[ 6]
6 7]
10 2]

(3#H]
1[ 5]
2[ 8]
3[ 7]
41 6]
5[ 3]
6[ 2]
70 4]

(548]
1[ 4]
2[ 3]
3[ 7]
4[ 6]
5[ 2]
[ 5]

%I\A

[] LRy |

1

O ~Ndo Ok~ wiN

( -0.5 m)

3/ A B2 (E)IEF -5 E) 30. 06
223 S 1 (LERER-5E)30. 77
2204 [ BE 1 (BEEREHR-5HE)31.00
20 )5 B 1 (LEREY-5E) 31,22
102% & kb1 CERERYT-%E)31. 41
109/ B B 1 GEmERT-5E)32. 36

e x KEE1 (E)IET-5HE)33. 48
( -0.3 m)

15— fEfot 2 (LEEF-%%)27. 27
1328 H & K2 OMIEF-#%)27. 49

89 =% Johf 1 (EA=AT-%%)28.25

39K s KB 2 (F)IIp - % E) 28. 50
10407 H = AN 1 GERERS &) 28. 62
1077 H B 1 GERERY-%E) 28. 81

98F8 JII B 2 GEMEERF-5E)29. 45
( -1.3 m)

169 1L & 3 (BA=RT-5%)24. 24
216871 Eéu b 3 (FRERET-%E)24. 51
228)\ 7 i 5§ 2 (LEKEF-5E) 25. 49
186111 A [@ SE3 (LREF-5%£)25.53
10130 & A2 2 GEHERT-5E)27. 21
2005 8 3 GBRESFP-5E) KK

\

ﬁ
24

E

‘f*%

216 ﬂéﬁ# pn Bt 3 (RAERT-5i5)24.51 -1.3
228 )\ 7
186 111 A&
30 A
233 4 Ot
235 )\ [if]
174 /K $h 2 2 (LEFD-£i%) 26. 89

it & 3 (A=RT-HE)24.24 -1.3

Ui 5 2 (REAEH-5E)25.49 -1.3
B 2} 3 (LR -£%)25.53 -1.3

2 (E)Imh-%%)25.97 -0.9
se K2 (LERED-5%)26.31 -0.9
kI 2 (RERET-%%)26.58 -0.9
-0.9

iR B (57H)

[248]
1[ 8]
2[ 3]
3[ 6]
41 7]
5[ 2]
6[ 5]
70 4]

[478]
1[ 2]
2[ 6]
3[ 3]
41 8]
5[ 4]
60 7]
70 5]

( -0.8 m)
22475 H
17675 H

4205 By

407 24
217 &
2575 F
1M =8
( -0.9 m)

30E A
2334 St
235)\ [l FE ST
174/)~ #K

60 2
1007 1k
2321

i 5% 2 G

1E B2 (BERFR-5E) 27.

% 2 (LER-FE)28.
H i3 (H)IEth-5E) 28.
B 2} 2 (5 IFE T -5 E) 29.
¥ 1 (ERKED-5E) 30.
e 2F 2 (AR - B ) 30.
H#41 GEREED-5%) 30.

2 (E)Eh-5E) 25.
st X2 (LEREF-HE) 26.
2 (LRRET %E)26.
22 (LREF-HE)26.
%32 (RRFEMH-5E)27.
HEEf-5E) 27.
W72 (LEREHR-5E)27.

98
06
99
52
02
04
09

97
31
98
89
02
03
25



=N
[1#8])
1[ 3]
2[ 5]
3[ 8]
41 4]
5[ 1]
6[ 7]
10 6]
8[ 2]

(3#A]
10 5]
2[ 3]
3[ 8]
4 4]
5[ 7]
6 6]
70 2]
[ 1]
(5481
1[0 3]
2[ 4]
3[ 1]
4 5]
5[ 6]
6[ 2]
70 7]
8[ 8]

(78]
1[ 3]
2[ 5]
3[ 1]
41 6]
5[ 2]
6[ 4]
70 7]
8[ 8]

[9#8]
1[ 4]
2[ 5]
3[ 8]
41 3]
5[ 6]
6 7]
10 2]

(1148]
1[ 6]
2[ 4]
3[ 7]
41 3]
5[ 8]
6[ 5]
[ 2]

- —fEEF 400m RE(34%R)

[248]
3065 1 # 1 (LEME- f#%)56.39 1[ 4] 4724 P KBS (ZSHAER -HiE)b5. b4
1804 H W K2 (5ENE 15E)56. 82 20 6] 211¥ K72 2 (lEK)IER-%%)55. 93
51387 0 & K BA 1 () 5 - 35 ) 58. 13 3[ 5] 5107 H M th 1 (k- ¥ %) 57.15
2405 ¥ BE 1 (WTRER-5E)58. 35 40 8] MTHEEE k2 (BA—m-5E)57.93
48478 B £k 2 (WEME -5 E)58. 73 5[ 3] 380 H =i 1 (BERE-T5) 58.06
3034 KA1 (LEMAE %%)59.20 6[ 7] 2750 M B5 K1 GREXI#E 5E) 58. 52
AR M H %1 (KEREA 5£)1:00.12 70 1] 5098 5% P A1 (5 - 55 ) 58. 65
425%5 B FE A1 RA—F -5 E)1:00. 86 8[ 2] 453%  #h ¥ 2 (IDdtE-#%)59. 07

[4%8]
1791 1 & B 2 B EXRE-#E)53. 98 10 5] 1813 E il B 1 (WEXE-%E)51. 60
677 B B 2 (KERKER )54, 42 2[ 7] 250Fn M B (BEEF-HE)53. 42
482— 3 g E 2 (M E -5 ) 4. 66 3[ 6] BITR T2 1 (s -1 E)55. 37
4834 & & 21 (HENE 5E)54. 87 40 8] DLIEEH 71 BWEEK-5E)56. 60
4945 1 B A 2 BEEK-#E)5B5. 07 5[ 4] 507# & K2 (BWE-5E)56.76
8175 ik 2 (MEME- )55, 67 6 1] 520K M % — 1 (EpE- ¥ E)58.16
35558 iU & 2k 1 (FfJIl e - ¥ ) 55. 96 70 2] 508/ H %2 (5 -4 E)58. 33
ANAE KR &N (EERAHE) R [ 3] b18E /& M A1 (Bm - £) Ri5;

[648]

2876 Ak sm 1 (—HBRT ) 52. 38 1[ 4] 5505 JII 2 th 3 (B K[A]- £ £)51. 60
298% (L Mt K3 (HEmME-#%%)52.38 20 7] 493% A K1 (KE—&-#%)51.68
97/ & K HE1 BFEK-HE)52.40 3[ 3] 37T3EHAMR  fik#k 2 (HHbRE TE)52.00
368% H & Sk 2 (BERE-TE)52.90 40 11 48& JE fEH 2 (BFEEK-#%E)52.57
35085 A & 2F 2 (hmJlE - ¥ £)54.18 50 5] 272/ 1 ¥ 2 CRERIBE %) 53. 12
/b1 1 K2 (WlE -5 £)54.72 6[ 6] 2735 . &E 1 GREKIEE %E)54. 33
957k B K (J7 77 -#R)55. 35 [ 2] 505%F ¥H 4 %2 (BWE- -5 £ R5
274= & Wt 1 OREK)IEE5E)56. 29 [ 8] 34/hE Bk (HENS-HE)RIH

[8%8]
118K &% K3 WEXA -HE)50. 43 10 4] 984 ] ¥R 3 (B EK-fJE)50. 73
1TI\A KF1 (Ob—1846-£%)51. 05 2[ 5] 215%c % Jx 2 2 (vt K- #71i8) 51. 00
51510 & #i K 1 (B -5 %) 51.55 3[ 3] 1595 W &3 (BFkK-#%)51.33
161K I8 i 3 2 (BEREK-H£)51. 75 41 2] 1600 B A 3 (EFFA-#E)51. 42
901~ / P 2 Gk T#)51. 81 5[ 7] 3674 & — 2 (BHdRE T£)52.19
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